HORIZONTAL HAT CHANNEL, MIN
18GA ENGINEERED BY OTHERS,
MINIMUM WIDTH-3"

TWO CLIP SCREWS FOR 18GA HAT
CHANNEL OR ONE CLIP SCREW
FOR 16GA HAT CHANNEL PER CLIP

CONTINUOUS EXTERIOR INSULATION,
FOAM PLASTICOR OR HIGH-DENSITY
STONE WOOL 4" THICK

STAINLESS STEEL SCREW
w/THERMAL ISOLATION

TWO CLIP SCREWS FOR 18GA HAT |
CHANNEL OR ONE CLIP SCREW FOR
16GA HAT CHANNEL PER CLIP

CLIP SCREWS FOR STARTER BAR, !

EVERY 16" O.C.

APPLY THE SEALER AT CUT EDGES

STARTER BAR (FOR
VERTICAL APPLICATION) ¥

SILL FLASHING

19/32"(15mm)
20/32"(16mm)—

N

~IE

PANEL CLIP —— |

WRB BUILDING

PAPER

CERACLAD PANEL \

g

Y -

18"(455mm)

(PURCHASE LOCALLY) \ — — —
€
e
S
Y EXTERIOR GYPSUM
SHEATHING 5/8"(16mm)

STEEL STUD

_/

STARTER BAR
(STEEL STUD)

JUN 25 2020

CERACLAD SIDING PANEL (16mm)

. SECTION DETAIL
. VERTICAL INSTALLATION
. 3030mm Lx455mm W

“ CERACLAD




18"(455mm)

STAINLESS STEEL SCREW
w/THERMAL ISOLATION
TWO CLIP SCREWS FOR 18GA HAT CHANNEL OR ONE CLIP
SCREW FOR 16GA HAT CHANNEL PER CLIP

PANEL CLIP
WRB BUILDING PAPER
CERACLAD PANEL

————— ——— ——~ ————— ———

I 16"(400mm) L
7
STEEL STUD
EXTERIOR GYPSUM SHEATHING
5/8"(16mm)

CONTINUOUS EXTERIOR INSULATION, FOAM PLASTIC
OR HIGH-DENSITY STONE WOOL 4" THICK

HORIZONTAL HAT CHANNEL, MIN 18GA
ENGINEERED BY OTHERS, MINIMUM WIDTH-3"

PANEL VERTICAL JOINT
(HORIZONTAL SECTION)

JUN 25 2020

CERACLAD SIDING PANEL (16mm)

SECTION DETAIL & CERACLAD

VERTICAL INSTALLATION
3030mm Lx455mm W




OUTSIDE PREFORMED CONER
CAULKING (APPLY PRIMER)
METAL CAULKING JOINER (B2713K)
STAINLESS SCREW 1-6/16"(35mm) INTO HAT CHANNEL (PURCHASE
LOCALLY) THE LENGTH OF SCREW DEPENDS ON THE DEPTH OF
THE HAT CHANNEL
STAINLESS SCREW 2-3/32"(53mm) INTO HAT CHANNEL (PURCHASE
LOCALLY) THE LENGTH OF SCREW DEPENDS ON THE DEPTH OF THE
HAT CHANNEL COUNTERSINK AND FINISH PER DIRECTION ON PG. 22
PRESSURE TREATED FURRING STRIP NOM.
5/8"x4"(15mmx100mm) (PURCHASE LOCALLY)

WRB BUILDING PAPER

STAINLESS STEEL SCREW

W/THERMAL ISOLATION _
€
BN ‘AT“‘_E’
ENE 3
S &L 2
2l e
?g o CERACLAD PANEL
< B> L
Nt PANEL CLIP
fgﬁt > |
Ele |
o
= E |
SIS |
- |
|

N

|,19/32"(15mm)
7
20/32"(16mm)

AN
STEEL STUD

. EXTERIOR GYPSUM
SHEATHING 5/8"(16mm)

CONTINUOUS EXTERIOR INSULATION,
—— FOAM PLASTICOR OR HIGH-DENSITY
STONE WOOL 4" THICK

| HORIZONTAL HAT CHANNEL, MIN 18GA
ENGINEERED BY OTHERS, MINIMUM WIDTH-3"

OUT SIDE PREFORMED | CERACLAD SIDING PANEL (16mm)

CORNER

(STEEL STUD) . SECTION DETAIL & C E R A C I. A D

. VERTICAL INSTALLATION
JUN 25 2020 . 3030mm Lx455mm W




OUTSIDE METAL CORNER (PURCHASE LOCALLY)

CUT OFF THE PANELJOINT PART

STAINLESS SCREW 2-3/32"(53mm) INTO HAT CHANNEL (PURCHASE
LOCALLY) THE LENGTH OF SCREW DEPENDS ON THE DEPTH OF THE
HAT CHANNEL COUNTERSINK AND FINISH PER DIRECTION ON PG. 22
PRESSURE TREATED FURRING STRIP NOM. 5/8"x4"

(15mmx100mm) (PURCHASE LOCALLY)

HORIZONTAL HAT CHANNEL, MIN 18GA

ENGINEERED BY OTHERS, MINIMUM WIDTH-3"

STAINLESS SCREW 1-6/16"(35mm) INTO HAT CHANNEL

(PURCHASE LOCALLY) THE LENGTH OF SCREW DEPENDS ON

THE DEPTH OF THE HAT CHANNEL

WRB BUILDING PAPER

STAINLESS STEEL SCREW

w/THERMAL ISOLATION

—_

ore

?\‘A

?? &

7
19/32"(15m

1-1/4"(30mm) or

CERACLAD PANEL

—— PANEL CLIP

L STEEL STUD
| EXTERIOR GYPSUM

SHEATHING 5/8"(16mm)

CONTINUOUS EXTERIOR INSULATION,
— FOAM PLASTICOR OR HIGH-DENSITY

STONE WOOL 4" THICK

N

%19/32"(15mm)
~20/32"(16mm)

OUTSIDE METAL
CORNER
(STEEL STUD)

JUN 19 2020

CERACLAD SIDING PANEL (16mm)

. SECTION DETAIL ﬂ CERACLAD

. VERTICAL INSTALLATION
. 3030mm Lx455mm W




CERACLAD PANEL
/ WRB BUILDING PAPER

HORIZONTAL HAT CHANNEL, MIN 18GA
/7 ENGINEERED BY OTHERS, MINIMUM WIDTH-3"

PANEL CLIP
TWO CLIP SCREWS FOR 18GA HAT CHANNEL OR

/ ONE CLIP SCREW FOR 16GA HAT CHANNEL PER CLIP

STAINLESS STEEL SCREW
/ w/THERMAL ISOLATION

PRESSURE TREATED FURRING STRIP

/ NOM. 5/8"x4"(15mmx100mm)
STAINLESS SCREW 2-3/32"(53mm) INTO HAT CHANNEL

(PURCHASE LOCALLY) THE LENGTH OF SCREW

DEPENDS ON THE DEPTH OF THE HAT CHANNEL
"(10mm) COUNTERSINK AND FINISH PER DIRECTION ON PG. 22

CAULKING

1-1/4"(30mm)
METAL CAULKING JOINER

(B2713K) ONE SIDE; TYPE

20/32"(16mm)

19/32"(15mm)

| STAINLESS SCREW 1-6/16"(35mm)
INTO HAT CHANNEL (PURCHASE

| | LOCALLY) THE LENGTH OF
SCREW DEPENDS ON THE DEPTH
OF THE HAT CHANNEL
N _
Z
H
STEEL STUD
EXTERIOR GYPSUM SHEATHING
5/8"(16mm)
CONTINUOUS EXTERIOR INSULATION, FOAM PLASTIC
OR HIGH-DENSITY STONE WOOL 4" THICK
(HORIZONTAL SECTION) | . SECTION DETAIL & CERACILAD

JUN 25 2020

. VERTICAL INSTALLATION
. 3030mm Lx455mm W




J-TRIM ENGINEERED BY OTHERS
(PURCHASE LOCALLY)

= €| 20/32"(16mm)
€

5 o —19/32"(15mm)

& =

VERIFY DIMENSION

1/2"(12mm);%7

PANEL CLIP — "

TWO CLIP SCREWS FOR 18GA HAT
CHANNEL OR ONE CLIP SCREW
FOR 16GA HAT CHANNEL PER CLIP

Ml g"(3L prefel"re J %

HORIZONTAL HAT CHANNEL, MIN 18GA
ENGINEERED BY OTHERS, MINIMUM =
WIDTH-3"

STAINLESS STEEL SCREW /
w/THERMAL ISOLATION

CONTINUOUS EXTERIOR INSULATION, W, S
FOAM PLASTIC OR HIGH-DENSITY — |
STONE WOOL 4" THICK

WRB BUILDING / \
PAPER — — —
|

y
CERACLAD PANEL J

EXTERIOR GYPSUM SHEATHING
5/8"(16mm)

STEEL STUD

UNDER EAVES CERACLAD SIDING PANEL (16mm)

(STEEL STUD) . SECTION DETAIL ﬂ CERACLAD

. VERTICAL INSTALLATION

JUN 25 2020 . 3030mm Lx455mm W




19/32"(15mm) N

20/32"(16mm),, WRB BUILDING
ﬂ PAPER

CONTINUOUS EXTERIOR INSULATION, ] y
FOAM PLASTIC OR HIGH-DENSITY — — —
STONE WOOL 4" THICK

STAINLESS STEEL SCREW \‘ﬁ —
w/THERMAL ISOLATION N

PANEL CLIP LOCATE WITHIN 3" —— |
OF THE STARTER BAR - — —
\

TWO CLIP SCREWS FOR 18GA HAT
CHANNEL OR ONE CLIP SCREW FOR \\

16GA HAT CHANNEL PER CLIP

CLIP SCREWS FOR STARTER
BAR, EVERY 16" O.C.
APPLY THE SEALER

(EXPOSED CUT FACE)
STARTER BAR (FOR VERTICAL
APPLICATION)

THROUGH WALL FLASHING
(PURCHASE LOCALLY) =N

VERIFY DIMENSION

1/4"(54mm)

1"(25mm)

1/2"(12mm)

HORIZONTAL HAT CHANNEL, MIN \
18GA ENGINEERED BY OTHERS, —— |
MINIMUM WIDTH-3" ‘
|
|

CERACLAD PANEL ——

EXTERIOR GYPSUM SHEATHING

5/8"(16mm) STEEL STUD

THROUGH WALL FLASHING CERACLAD SIDING PANEL (16mm)

(STEEL STUD) . SECTION DETAIL & CERACLAD

. VERTICAL INSTALLATION

JUN 25 2020 . 3030mm Lx455mm W




WRB BUILDING ——

CERACLAD PANEL — \

PANEL CLIP (LOCATE
WITHIN 3" OF STARTER BAR) \

TWO CLIP SCREWS

18GA HAT CHANNEL OR ONE
CLIP SCREW FOR 16GA HAT N

CHANNEL PER CLIP

CLIP SCREWS FOR STARTER =
=

BAR, EVERY 16" O.C. E

N

5

STARTER BAR (FOR N

VERTICAL APPLICATION) —
APPLY THE SEALER

FLUSHING

(EXPOSED CUT FACE) J
(PURCHASE LOCALLY)

DOUBLE-SIDED WATER-PROOF TAPE

HEAD FLUSHING

(PURCHASE LOCALLY)

CAULKING
TWO CLIP SCREWS FOR 18GA
HAT CHANNEL OR ONE CLIP SCREW
FOR 16GA HAT CHANNEL PER CLIP

PANEL CLIP

HORIZONTAL HAT CH

18GA ENGINEERED BY OTHERS, — - |

MINIMUM WIDTH-3"

STAINLESS STEEL SCREW /S
w/THERMAL ISOLATION ‘ é

CONTINUOUS EXTERIOR INSULATION,
FOAM PLASTIC OR HIGH-DENSITY

19/32"(15mm)
20/32"(16mm),,
7

PAPER

FOR

eV
| Sl
]
|
|

CAULKING

(PURCHASE LOCALLY)

ANNEL, MIN

STONE WOOL 4" THICK

/ STEEL STUD

— EXTERIOR GYPSUM

SHEATHING 5/8"(16mm)

WINDOW AND DOOR
HEAD AND SILL
(STEEL STUD)

JUN 25 2020

CERACLAD SIDING PANEL (16mm)

. SECTION DETAIL
. VERTICAL INSTALLATION
. 3030mm Lx455mm W

“ CERACLAD




PRESSURE TREATED FURRING STRIP
NOM. 5/8"x4"(15mmx100mm)

HORIZONTAL HAT CHANNEL, MIN
18GA ENGINEERED BY OTHERS,
MINIMUM WIDTH-3"

WRB BUILDING PAPER

CERACLAD PANEL T
\J

STAINLESS SCREW 2-3/32"(53mm) INTO HAT CHANNEL
(PURCHASE LOCALLY) THE LENGTH OF SCREW
DEPENDS ON THE DEPTH OF THE HAT CHANNEL
COUNTERSINK AND FINISH PER DIRECTION ON PG. 22

~1-1/4"(31mm) or more

~3/8"(10mm)

CAULKING
/ METAL CAULKING JOINER
ONE SIDE TYPE (B2713K)

METAL FLASHING

~—

¥ (PURCHASE LOCALLY)

1-1/4"(31mp)
.

19/32"(15mm)

STAINLESS STEEL SCREW
w/THERMAL ISOLATION

DOUBLE-SIDED WATER-PROOF TAPE TWO
LAYERS BETWEEN INSULATION & WRB AND
JE WRB AND FLASHING (PURCHASE LOCALLY)

_ v
N
[
STEEL STUD
EXTERIOR GYPSUM SHEATHING
5/8"(16mm)

CONTINUOUS EXTERIOR INSULATION, FOAM PLASTIC
OR HIGH-DENSITY STONE WOOL 4" THICK

WINDOW AND DOOR
JAMB(CAULKING)
(STEEL STUD)

JUN 25 2020

CERACLAD SIDING PANEL (16mm)

. SECTION DETAIL
. VERTICAL INSTALLATION
. 3030mm Lx455mm W

“ CERACLAD




NA

EXTERIOR GYPSUM 0/32"(16mm)
N

19/32"(15mm)

SHEATHING 5/8(16mm) CONTINUOUS EXTERIOR INSULATION, FOAM

PLASTIC OR HIGH-DENSITY STONE WOOL 4"
THICK

ROOFING FELT

WRB BUILDING PAPER
CERACLAD PANEL

STAINLESS STEEL SCREW
w/THERMAL ISOLATION

PANEL CLIP

HORIZONTAL HAT CHANNEL, MIN 18GA
/ ENGINEERED BY OTHERS, MINIMUM WIDTH-3"

YN

10"(254mm)

TWO CLIP SCREWS FOR 18GA HAT
CHANNEL OR ONE CLIP SCREW FOR 16GA
HAT CHANNEL PER CLIP

L CLIP SCREWS FOR STARTER BAR,
€ EVERY 16" O.C.

ROOF FLASHING
N / ROOF MEMBRANE

p
.

N/

APPLY THE SEALER
(EXPOSED CUT FACE)

)y STARTER BAR FOR VERTICAL

N N B APPLICATION
EXTERIOR GYPSUM SHEATHING

TEEL STUD 5/8"(16mm)

(¢)]

LOW SLOPE ROOF
AND WALL
(STEEL STUD)

JUN 25 2020

CERACLAD SIDING PANEL (16mm)

. SECTION DETAIL & C E R A C I. A D

. VERTICAL INSTALLATION
. 3030mm Lx455mm W




N

PLYWOOD/OSB SHEATHING
MINIMUM 1/2"(12mm)

WRB K'

r 3
7

ROOFING
MEMBRANE

v e
Y

10"(254mm)

AP
LD [ I

S

6"(152mm)

N
[

SIDING PANEL

PANEL CLIP LOCATE WITHIN 3" OF
STARTER BAR

CLIP SCREW 1-3/8"(35mm)

VERTICAL STARTER BAR

ROOF FLASHING

J
‘

/ ROOFING MEMBRANE

=
=
=

—

APPLY THE SEALER TO
CUT EDGES (EXPOSED
CUT FACE)

\

-

\

ROOF TO WALL
(STEEL STUD)

. SECTION DETAIL

3030mm Lx455mm W

CERACLAD SIDING PANEL (16mm)

. VERTICAL INSTALLATION
JUN 25 2020 *

“ CERACLAD




	Sheets
	Steel_Gyp_CI_V 1 - 83HC_starter_bar
	Steel_Gyp_CI_V 2 - 83HC_panel_vertical_joint(horizontal_section)
	Steel_Gyp_CI_V 4 - 83HC_outside_preformed_corner
	Steel_Gyp_CI_V 4.1 - 83HC_outside_metal_corner
	Steel_Gyp_CI_V 5 - 83HC_inside_corner
	Steel_Gyp_CI_V 6 - 83HC_under_eaves
	Steel_Gyp_CI_V 7 - 83HC_through_wall_flashing
	Steel_Gyp_CI_V 8 - 83HC_window_and_door_head_and_sill(caulking)
	Steel_Gyp_CI_V 8.1 - 83HC_window_and_door_jamb(caulking)
	Steel_Gyp_CI_V 9 - 83HC_low_slope_roof_and_wall
	Steel_Gyp_CI_V 9.1 - 82_roof_to_wall


